
eV
idy

art
hi

MODEL QUESTIONS 
FOR 

MARTIC EXAMINATION
 SUBJECT-SCIENCE 

SET-II 
PHYSICS 

1- mŸky niZ.k ds ,d miHkksx dks fy[ksaA 01 

Write down one of the use of convex mirror. 
2- Li”V nf̀”V dh U;wure nwjh dk eku yxHkx fdruk gksrk gSa \ 

What is approximate value for least distance of dis tinct vision ? 01 
3- ,d ysal dh {kerk&5D gSA ;g fdl izdkj dk ysUl gS \  

The power of a lens is-5D. what type of lens is it ? 01 
4- fo|qr ‘kfDr dk  S.I. ek=d D;k gksrk gS \ 

What is S.I. unit of electric power ? 01 
5- fn”V /kkjk ds ,d L=ksr dk uke fy[ksaA 

Name one source of direct current. 01 
6- ukfedh; lay;u D;k gS \ 

What is nuclear fusion ? 02 
7- fo|qr cYc dk ukekafdr fp= cukb, A 

Draw a lebelled diagram of an electric bulb. 02 
8- izdk’k ds o.kZ fo{ksi.k ls vki D;k le>rs gS \ bUnz/kuq”k dh O;k[;k djsaA 

What do you mean by dispersion of light ? Explain the rainbow. 03 
9- ,d ifjukfydk dk LoPN ukekafdr fp= cukb,A  03 

Draw a neat and well labelled diagram of a solenoid. 
10- 20 ls0eh0 Qksdl nwjh ds mŸky ysUl ds lkeus olrq dgk¡ j[kh tk; fd mldk pkj xq.kk 

vkof/kZr izfrfcEc cus \ 

At What distance should an object be placed from a convex lens of focal distance 20 cm 
so that its four times enlanged image may be obtained. 05 

CHEMISTRY 

11- fdVksu vfHkfØ;k ‘khy ewyd dk lw= D;k gSa \ 01 

What is the formula of ketonic functional group ? 
12- fojatd pw.kZ dk v.kq lw= fy[ksaA 01 

Write the molecular formula of bleaching powder. 
13- r̀rh; vkoŸkZ esa dqy rRoksa dh la[;k¡ D;k gS \ 01 

What is the number of elements in third period of perodic table? 
14- fuEufyf[kr lehdj.k dks larqfyr djsa%& 01 

Fe2O3 +Al  Fl2O3 +Fe 
Balance the following equation:- 
Fe2O3 +Al  Fl2O3 +Fe 

15- ,Fkkby ,Ydksgy dk lajpuk lw= fy[ksa%& 01 

Write the structural formula of ethyl alcohol. 
16- esamyhQ ds vkoŸkZlkj.kh ds folaxfr;ksa dks fy[ksA 02 

Write the anamolies of the mendeleev’s peroidic table. 
17- IykLVj vkWQ isfjl dk vkf.od lw= fy[ksaA bldk miHkksx D;k gS \ 02 

Write the molecular formula of plaster of peris. what are its uses ? 
18- iz;ksx’kk[kk esa feFksu xSl cukus dk fof| ,oa Dyksjhu ds lkFk bldk mlds jklk;fud 

vfHkfØ;k dks fy[ksa \ 03 

Write down the laboratory method of prepration of methane and its chemical reaction 
with chlorine ? 
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19- fuEufyf[kr dkcZfud ;kSfxdksa dk lajpuk lw= fy[ksaA 03 

¼i½ izksisukSy ¼ii½ mFksuksbd vEy ¼iii½ C;wVhu&2 ¼iv½,lhVksu ¼V½ ,Fkhu 
Write down the structural formula of the following organic compound. 
(i)Propone (ii) Ethanoic acid  (iii)Butene -2 (iv)Acetone (v) Ethene 

20- vk;fud ;kSfxd dk nzoukad ,oa DoFkukad mPp gksrk gS D;ksa \ 05 

Melting points & boiling point of Ionic compound is high ? why ? 

BIOLOGY 

21. ‘olu dk e/;orhZ inkFkZ D;k gS \ 01 

What is the intermediate Product of Respiration ?

22. euq”; eas phuh ds ikpu eas dkSu gkeksZu lgk;d gS \ 01 

While Harmone assits  in digestion of Sugar in human ?

 23.^^ nh vkSjhthu vkWQ Lis’kht^^  uked iqLrd fdlus fy[kh gS \ 01 

Who write the “ Orgein of Species” ? 

24. euq”; dh dksf’kdk eas xq.klw=kas dh la[;k D;k gS \ 01 

How many Chromosomes are Present in human Cell ? 

25. ̂ ^vkuqoaf’kdh ds tud dkSu gSâ ^ \ 01 

Who is the Father of Genetics ?

26. tSfod vko/kZu D;k gS \ D;k ikfjra= ds fofHkUu Lrjkas ij tSfod vko/kZu dk izHkko fHkUu gksrk

gS \ D;kas\ 02 

What is biological magnification ? is effect of Biological magnification different  in the
different layers of ecology ?  Why?

27. dksbZ oLrq ltho gS bldk fu/kkZj.k djus ds fy, ge fdl ekinaM dk mi;ksx djrs gS \  02

What Creteria do we use to decide Whether something is alive ?

28. letkrh; Js.kh D;k gS \ mgkgj.k ds lkFk fy[ksaA 03 

What is an homologous Series  ? Explain with Example.

29. ikS/kksa esa izdk’k la’ys”k.k dh fØ;k dks lafpr n’kkZ;sa \ 03 

Show Photosynthesis in Plants with the help of  aneat diagram?

30.izdk’k la’ys”k.k D;k gS \ bl izfØ;k esa xSl eqDr gksrk gS \ 05 

What is Photosynthesis ? O2 gas realessed during Photosynthesis. Explain with suitable
diagram.

vFkok 
MkfcZu ds fodklokn ds fl)kUr dh O;k[;k djsa \ 

Explain  the Darwinism ?  

PHYSICS Objective 

¼31½ ¼i½ fdlh fcac dk okLrfod izfrfcEc leku vkdkj dk izkIr djus gsrq] oLrq dks mÙky ysal ds 

lkeus dgk¡ j[ksaxs\ 01 

¼d½  Qksdl ij ¼[k½  oØrk dsUnz ij 

¼x½  vuar ij ¼?k½  izdk’kh; dsUnz ij 

Where should an object be placed in front of a Convex lens to get real image of its equal 
size ? 
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¼a½ At focus ¼b½ At centre of curvature

¼c½ At infinity ¼d½ At optical centre
¼ii½  ,d vory niZ.k dh Qksdl nwjh 10 lseh0 gS rks mldh oØrk f=T;k gksxh \ 01 

¼d½  10 lseh0   ¼[k½  20 lseh0  

¼x½  5 lseh0    ¼?k½  40 lseh0  
The focal length of a concave mirror is 10 cm then its radins of curvature will be  ? 
¼a½ 10 cm ¼b½ 20 cm
¼c½  5 cm ¼d½40 cm

¼iii½  fo|qr ¶;wt] fo|qr /kkjk ds fdl izHkko ij dk;Z djrk gS \ 01 

¼d½  m”eh;     ¼[k½  pqEcdh;   

¼x½  jklk;fud     ¼?k½  buesa dksbZ ugha 

Electric fuse works on  ? 
¼a½ Heating effect of current    ¼b½ Magnetic effect of current

¼c½ Chemical  effect of current  ¼d½ None of these
¼iv½  ,d dwyac vkos’k fdrus izksVkWuksa ls curk gS \  01 

¼d½  1-6 X  10-19 ¼[k½  1-6 X  1019 

¼x½  6-25X  1018  ¼?k½  6-25X  10-18 

One Coulomb electric charge equals to how many number of protons  ? 
¼a½ 1-6 X  10-19 ¼b½ 1-6 X  1019 

¼c½  6-25X  1018 ¼d½  6-25X  10-18 

¼v½  ukfHkdh; mtkZ izkIr djus gsrq vko’;d gS \ 01 

¼d½  fgfy;e    ¼[k½  Øksfe;e  

¼x½ ;wjsfu;e   ¼?k½  ,Y;qfefu;e  

For producing nuclear energy which of the following is necessary  ? 
¼a½ Helium ¼b½ Cromium

¼c½ Uranium ¼d½ Aluminium
¼vi½  VaxLVu fuEufyf[kr eas ls fdl rki ij fi?kyrk gS \ 01 

¼d½ 2500
0C ¼[k½  3000

0C 
¼x½ 3500

0C ¼?k½  4000
0C 

On which of the following temperature tungsten melts  ? 
¼a½ 2500

0C ¼b½ 3000
0C 

¼c½ 35000C ¼d½ 4000
0C

¼vii½thok’e bZa/ku dh mtkZ dk okLrfod L=ksr gS \ 01 

¼d½  ukfedh; lay;u  ¼[k½  pUnzek 

¼x½ lw;Z ¼?k½  buesa ls dksbZ ugha 

The actual source of energy of fossil fuel is 
¼a½ Nuclear fusion     ¼b½ The moon 

¼c½ The sun ¼d½ None of these

CHEMISTRY 

31-¼viii½lehdj.k CaCO3 m”ek CaO(S)+CO2 fdl izdkj dk vfHkfØ;k gS \ 01 

¼d½  fo;kstu    ¼[k½  la;kstu  

¼x½  mHk;xkeh    ¼?k½  izfrLFkkiu 
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The reaction CaCo3  heat CaO(S) CO2 (g) is what type of reaction ? 
¼a½ Dissoliation ¼b½ Combination

¼c½ Reverssible ¼d½ Subtitution
¼ix½  vkDlhtu xSl ds ,d v.kq ds nks ijek.kqvksa ds chp fdrus vkca/k gSa \ 01 

¼d½  1 ¼[k½  2 

¼x½  3 ¼x½  3 

How many bonds are found between two atoms of oxygen in a molecule of 
oxygen  ? 
¼a½  1 ¼b½  2 

¼c½  3 ¼d½  3 

¼x½  {kkjh; ?kksy dk PH eku fdruk gksrk gS \ 01 

¼d½  7 ls de     ¼[k½  7 ls vf/kd 

¼x½  3 ls de     ¼?k½  5 ls de  

How much is the PH value of basic solution  ? 
¼a½ less than 7 ¼b½ more than 7

¼c½ less than 3 ¼d½ less than 5
¼xi½  dkSu lk v/kkrq dejs ds rki ij nzo voLFkk esa jgrk gSa \ 01 

¼d½  ozksehu      ¼x½  vk;ksMhu 

¼x½  Dyksjhu      ¼x½  vkDlhtu  
Which non metal is in liquid state at room temprature  ? 

¼a½ Bromine ¼b½ Iodine

¼c½ Chlorine ¼d½ oxygen
¼xii½  ,lhVhyhu ds ,d v.kq esa nks dkCkZu ds chp vkoU/kksa dh la[;k fdruh gSa \ 01 

¼d½ 1 ¼[k½  2 

¼x½ 3 ¼?k½  4 

How many bonds are present between two corbonatoms in a molecule of acetylene 
gas  ? 

¼a½ 1 ¼b½ 2 

¼c½ 3 ¼d½ 4
¼xiii½  fuEufyf[kr ;kSfxdksa esa dkSu&lk ,jksesafVd gkbZMªksdkCkZu gS \  01 

¼d½  osathu ¼[k½  feFksu 

¼x½  O;wVsu ¼?k½  izksisu 
Which compound is Aramatic organic compound hydrocarbon  ? 
¼a½ Benzene ¼b½ Methane

¼c½ Butane ¼d½ Propane

¼xiv½  yky rIr yksgk ij ty ok”Ik izokfgr djus ls dkSu lk ;kSfxd curk gS \ 01 

¼d½ Feo ¼[k½ Fes 
¼x½ Fe2O3  ¼?k½ Fe (OH)3 

Which compound is formed when steam is flowed on Red hot Iron ? 
¼a½ Feo ¼b½ Fes

¼c½ Fe2O3 ¼d½ Fe (OH)3
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 Biology 

31. ¼xv½ Qwy esa uj iztUu vax gksrk gSa \ 01 

¼d½ iqadslj ¼[k½ vaMi 

¼x½ okfrZdkxz ¼?k½ofrZdkxz 

In flower, male reproductive organ is?  
(a)stamen (b)earpul 
(c)stigma (d)style 

¼xvi½  va.Mk.kq fu”ksfpr gksrk gSa \ 01 

¼d½ ;ksfu ls ¼[k½ xHkkZ’k; ls 

¼x½ Qsyksfi;u ufydk ¼?k½ v.Mk’k; ls 

Ovum is fertilized in.  
(a)vagina (b)uterus 
(c)follopain tube (d)ovary 

¼xvii½ fuEufyf[kr esa ls dkSu ,d mHk;fyaxh tUrq gSa \ 01 

¼d½ dspqvk ¼[k½ eNyh 

¼x½ ‘ksj ¼?k½ cdjh 

Which one of the following is a bisexual animal. 
(a)Earth worm (b)Fish 
(c)Lion  (d)Goat 

¼xviii½ fuEufyf[kr esa ls dkSu ,d **Hkqfexr ty** dk mnkgj.k gSa \ 01 

¼d½ unh ¼[k½ dqvk¡ 

¼x½ rkykc ¼?k½leqnz 

Which one of the following is an example of underground water ? 
(a)River (b)well 
(c)Tank (d)Sea 

¼xix½ Hkkstu dk ipuk fdl izdkj dh vfHkfØ;k gSa \ 01 

¼d½ mip;u ¼[k½ la;kstu 

¼x½ mip;u ¼?k½ foLFkkiu 

What type of reaction is the digestion of food. 
(a)oxidation  (b)combination 
(c)reduction  (d)Displacement 

¼xx½ nks raf=dk dksf’kdk ds e/; [kkyh LFkku dks dgrs gS \ 01 

¼d½ nzfedk ¼[k½ flusIl 

¼x½ ,DlkWu ¼?k½ vkosx 

The Gap between two neurons is called. 
(a)dendrite (b)synapse 
(c)axon (d)Empulse 

https://www.evidyarthi.in/


